P N
A A 4
SIRUI

Basic structure

’a
\ 8

Table Dolly

Professional Photographic Equipment

_INSTRUCTIONS

V ies Video Survi

Guangdong SIRUI optical co,,Itd = 3 X
Address: The ThirdAridustrial District, Wuguishan Town, Zhohgshan City, Guangdong, China % g
Tel: 0086-760-88897373  Fax: 0086-760-88207662  ServiceHotline: 6086-400-8302299 Ajf“
E-mail: ipf6@sirui-photo.com http://wwwsirui.com P.C: 528458 &
=
8 »
=
Lod g{{
K| &
i
£ 2w =
S50 © 0 & L =
(@ RS © © &N« =
€ 200 X ~ o X =
Y I AN & Y W
= — v.%) -
= o o o
= A < 2
B
=~ N M O\ 9
; i i o i
© < \ <
26 o 5 I\
opsE T3S 359
PE 2884
e 8 =» — m
w\ Asse
S N 0 o &
A <Y o o ~ N
R EE N
[a} o © v o
v v E ] & A A 9
©
= s ®© © m o
(U] A Y N oS < m \
O3 33922
I SE OO A ™ & Top Handle
s v £ N N © O < |
[\ Mm M N o @ A Secondary
o / Safety But%n
“ 2 / Nt
] > ff / - Top Handle —
= > 8 [} A Locking Knob =]
[} e} -] /: =
w o 2 9 g 3 / )
D 2 9§ T 9 / &
4 T O ® = < / .
) O 0 F vn n /
/ )
> / Fig. 3-1

1. Basic structure _
@O VSK-2 can be assem bled o be 2 products — Table Dolly &

—

Slider as fig—-
S e assembled to be 3 products =

Shoulder Rig.

@ age, Cowboy,

2. Constructingthe Cage (Fig. 1)

0 The cage comes partially assembled when you first purchase
the VSK-3. To complete construction, you need to place the
Top Bar onto the Side Handles and connect with the Attaching
Screws. The indicator arrow at the base of the Side Handles
should be aligned with the arrow on the Crossbar (Fig. 2-2). If
they are not aligned, loosen the Side Handle Locking Knob,
align the arrows and lock the Side Handle Locking Knob.

@As shown in Fig. 2-1, insert the 15mm x 200mm Rod into the
Crossbar and tighten the Locking Knob.

(®As shown in Fig. 2-1, attach the “C” Baseplate onto the 15mm x
200mm Rod and tighten the “C” Baseplate Locking Knob.

(@ Attach the camera onto the “C” Baseplate.

3. Assembling the Lowboy
As shownin-Fig. 3-1, slide the Top Handle onto the Top Handle
Connector on the-Jop Bar from the side - the alignment pin
should click into position~Lock the Top Handle by turning the Top
| ——Handle Locking Knob.

4. Disassembling the LoV\;BB*SF“‘Z—%;;E,H
As_shown in Fig. 3-1, loosen the Top Handle Locking-Knob;-press
the Secondary-Safety Button (Fig. 3-2), and slide out from-the

Attention:

Do not exceed the recommended load limi
refer to product specifications).

A Please

This-product should not be Used-in environments that exceed the following
conditions (40~ +100°C/-40 ~ +212°F).'Kﬁd;‘wn ed in damp, dirty or
dusty environments,please clean and dry thoroughly”é"ﬁer'use,, o-assure
proper functioning in the future=It is not recommended to expose this product
to saltwater. If exposed, please clean with-mild soap and warm water and towel
dry.

ure_that the locks are securely tightened when in‘use

i

Pleasekeep from high temperatures and direct exposure to bright sunlight for
-*- extended periods of time. For example, do not leave the product inside~a-car,
under a windshield or-on a windowsill.
.
Please do not leave the equi;wWe in a public place, which can be an

inconvenience or hazard to others. ~

-
iz To protect ‘your camera gear, please remove it_from the VSK-5 when

.
ansporting from ptace to place. ™

.
.
.

T~
Please use.a soft towel with~warm water and mild soap to clean the-locking

Under most situations, there is no need to tubricate any parts of this product.
The addition of most lubricants will gum up the mechanisms and reduce their
normal gliding characteristics. Please call or email us if you have any questions
or special needs.

Please keep this product away from all electrical pewer sources.

without notice.

Specifications are subject to change

system and gliding parts when necessary. Towel dry before storing the pro@d\.\
~



x 200mm Rod
rs Rod Connecting Screw

=== 15mm x 200mm Rod

Side Handle
Locking Knob

Constructing the Slider

15mm x 400mm Rod #1

15mm x 400mm

4-20 Tripod Socket under the Slider End Block

Fig. 5

Table Dolly Operation

Wheel Angle
Adjustment Locking
Knob

Wheel Friction
Adjustment Knob

Fig. 6

VSK-3 Packing Box }

S

Ti—rw
I} IO
E4 0 oLy
= 7

Shoulder
Rig Z Bar

Lowboy Handle

Fig. 7

VSK-2 Packing Box

[ 15mm x 400mm
] Rod

Rod #2

End Block Locking Knob
Slider End Block
Adjustable End Block Legs

Slider End Block

5. Constructing the Shoulder Rig \

@ To convert the Cage into a Shoulder Rig, detach t%?Qp Bar from the Side Handles by
unscrewing the Attaching Screws. Loosen the Side Hand\le Locking Knob, individually
move the Side Handles down 180° and lock the Side Handle\l\_ocking Knob in position.
You can adjust the angle of the Side Handles after assembling\ihe rest of the Shoulder
Rig. N

As shown in Fig. 4-2, according to your needs, you can lengthen the 15m\fh\§ 200mm Rod
by attaching a second rod with the Rod Connecting Screw.

@ As shown in Fig. 4-1, put the 15mm x 200mm Rods into the Crossbar and lock. .

® As shown in Fig. 4-1, attach the “C” Baseplate onto the 15mm x 200mm Rod, poélﬁqn

Fig. 8

it over the Crossbar and lock in position. You can adjust the final position when yoi]\‘

attach a camera and accessories onto the “C” Baseplate. (Attention: the end of the
Rod should pass through the "C" Baseplate to facilitate attaching the Z Bar.)
@ As shown in Fig. 4-1, attach the Z Bar onto the 15mm x 200mm Rod and lock. You can
position the Z Bar in the higher or lower position, depending upon your requirements.
®) As shown in Fig. 4-1, attach the other two 15mm x 200mm Rods onto the other side of
the Z Bar and lock.

® As shown in Fig. 4-1, attach the Shoulder Pad onto the 15mm x 200mm Rods and lock
in position. You can adjust the position of the Shoulder Pad, as needed.

@ As shown in Fig. 4-3, according to your needs, you can adjust the angle of the Side
Handle, and the position of the Crossbar, Shoulder Pad and “C” Baseplate to obtain the
most comfortable shooting configuration.

6. Constructing the Slider
(D As shown in Fig. 5, connect 15x400 Rod #1 and 15x400 Rod
#2 with the Rod Connecting Screw, then put into the Slider End
Blocks and tighten the End Block Locking Knobs. You can use
the Adjustable End Block Legs to make sure the Slider is level
when working on uneven terrain.
@ Attach the camera onto the Table Dolly Roller and put it on the
Slider.

@ There is a ¥%-20 socket on the bottom of the End Block that

allows you to attach a tripod under the Slider.

@ You can use any 15mm tube with the End Blocks, when you

require a longer rail length.

Note: To insure maximum stability and safety, make sure the rods
are completely pushed into the End Block and locked in
place. Do not use excessive force when tightening the
locks.

7. Table Dolly Operation(Fig. 6)

The Table Dolly Roller has uniquely designed Dual Use Wheels

that allow you to use them on the Sirui VSK-2 Slider or on flat

surfaces for low angle shooting.

(DMake sure the wheels are at the “0” position before placing it on
the Slider Rods.

@ When you use the Table Dolly on a flat surface, you can adjust
the wheel angles to move in an arc or circle for various creative
effects. The calibrated scales make adjustment fast and
accurate.

3 Based on the weight of the camera system and desired rolling
speed, you can control the wheel friction by turning the Wheel
Friction Adjustment Knob.

@ You can attach your camera directly onto the %-20 screw
(remove the 3/8” screw first) or you can attach a ball head onto
the 3/8” screw (remove the %4-20 screw first) for greater
movement and flexibility.

8. VSK-3 Packing Box
Please refer to Fig. 7 for storage of the parts for VSK-3.

9. VSK-2 Packing Box
Please refer to the Fig. 8 for storage of the parts for VSK-2.



	页 1
	页 2

